Math 1410—-Assignment 7

Due Friday Nov. 18, 2005 before the lecture in the class

. Determineif the following two sets of vectors span the same vector space:
S={(1,1,1,2),(0,1,1,1),(1,0,0,1)}, T={(-1,1,1,0),(2,1,1,3),(1,2,2,3)}.

. Let Abeaninvertible 3 x 3 matrix.

(& Show that the reduced echelon form of Aistheidentity matrix of order
3.

(b) Explain why the row space of Aisall of R3.

. Giventhat S={(-1,1,1,1),(-1,-1,1,1),(—-1,-1,-1,1)}. Determine
which of the vectors v = (2,3,4,—2), u=(1,2,3,4), areinthe span of S?

. Which of the following sets of vectors are linearly independent?

@ {(0,1,-1),(-1,0,1),(1,-1,0)}
(o) {(-1,1,1,1),(-1,-1,1,1),(-1,-1,-1,1)}

. Select alinearly independent subset of
S={(1,1,1,1),(0,2,—1,0),(1,3,0,1),(3,3,1,3)}
that spans the same subspace of R* as Sdoes.

. Find abasisfor the span of the set of vectors
{(-1,1,1,1),(0,1,—-1,1),(1,0,—2,0),(1,1,—-1,0)}

. Determine if the set of vectors {(—1,1,1),(-1,1,-1),(-1,-1,1)} isa
basis for R.
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(@) therow space of A,
(b) thesolution set of the equation Ax = 0 (notethat x isacolumn vector).



